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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.

D C B A Questions / « i £
0 a 1 A ¥xP (@) Jn 926 P () x—a Ji |1
If x—ais afactor of P(x), then P (a) =:
: m i oA g 2
(8.-2) | (8.2 | (-8.-2) | (8.2} | s X =3]=3
Solution setof | x -3 |=5 is:
(a-b)° a’—p (a+b)’ a’+b° a’ - 3ab(a-b)-b° =: 3
:w%.}’éi./fﬂ:bb(ﬁnu 4
4 3 2 l The number of techniques to solve a
quadratic equation is :
ey B lg! g A7 In matrices : (AB)_1 = - :gufﬁ' 5
4 LA S B F i D il Lads AL
cor?(l:g?;ent Collinear Concurrent | Medians of a triangle are :
g AE 6334 Sy U | Amatrix 1 et oS0 ARG 7
Scalar matrix | Identity mairix | Column matrix | Row matrix consisting of one column is called :
1 1 s o |8
0 “xl+b | —xt+b | xb o I AL
3 2 Area of a rectangle is :
e 1K 6pgr, 1 ¢
1Spgrs 3pgrs 3pqr 3gr re-(" 106 Opgr, 15qrs
H.CF. of 6pgr, 15grs is :
N . oot e 360° £ 25 180° s S U2 it | 10
s f.:w‘fslj 2 151}‘/{ -
Acute angle | Straight angle | Obtuse angle | Reflex angle An angle containing more than 180° : <
and less than 360° is called :
5 Jsln B BE : wz_mm:é;,,;w;.g i
Qverlapping Equal Coliinear Non-collinear { Points lying on the same line are called :
12
- cerf¥ (x-2)P=4
{2»6} {—6:_‘2} {_632} {034} ‘ 2"}’ ( )
Solution set of (x —2)" =4 is:
3 2 1 0 I .‘Lt‘ﬁgu{olz/f’(d;»} 3
A quadratic polynomial is of degree :
Foreach .g.tig“u//zwfofﬁbd"x’)ﬁﬁ H
0 x| ik ] number ‘x’ the absolute value of x is
denoted by :
& 15
| [RERRPI:Y,
2 f i \/g -2- ‘\/g \/§ i * 1
iy lfx=2+\/§,then—=———:
X
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(PART -1 Jst2 )
12 2. Write short answers to any SIX (6) questions : : P Y 4 /ﬁ Z ey (6)‘;;43/ 2

(1) Define a rational expression. o s )
-"{f?h'b-"-éif P(=2) I P(x)=2x3+2x> + x—1 A Gi)
(i) If P(x)=2x>+2x*+ x~1 , then find p(-2)

(i) Simplify | (6+2)(5-45) 22 (i)
(1v) Define quadratic polynomial. -é..:-g /; d/ ;} J f’/ Gy (V)
(v)  Factorize : x?=x~156 EEE W)
(vi) Factorize : 8x> — —2-1_} ZESF (vi)

(vil)  Write down the methods to find the square 25y YIS 1KUY A (viD)
root of algebraic expressions.

(viii) Define H.C.F. 8P e (i)
(ix) FindL.CMby factorization : 2ab,3ab,4ca &= Fiobomgsan (ix)
12 3. Write short answers to any SIX (6) questions : : o CONT 4 /""'.’ L =iy (6){:...&1( 3

(i) Solve : 3x +20 = 44 2 @)
(i) Solve : i+l =3 S Gi)
(i) Solve : |x-3| =4 22 (D
(iv) Factorize : x> =8-7x : gdf- Gv)
(v) Write two methods of solving -&’;F(L'iuié’ Pl S e (V)
quadratic equation.
(vi) Solve : (x-3)7% =4 22 (v
(vi)  Define order of a matrix. Ay K (Vid)

i det A T A=[:13 _24}/1 (viii)

4 2 1. 3 :
-é&f’A"‘B:B'}'A;HB:!: 6 1]151 /I=|:4 5:!;1 (ix)

-1 2
(viid) If 4 = [ 5 4] , then find det A

4

: I 3 2
(x) If A=[4 5:| and8=[ 1],thensh0wthatA+BZB+A

12 4. Write short answers to any SIX (6) questions : : P Az AZ L iy (6){;-_13/ 4
(i) Define paraliel lines. A NI AT ()

_ (2|J_j,) M ,'-ﬁf—'lg

e —




@)

4. (i) Define rectangle. ZEy ) J JSB./ (i) -4
(i11) What are concentric circles? cplnfe i, 7 Gid)
(iv) Define orthocentre of the triangle. Ay SeenS, Gv)
(v) Define transverse common tangent, -’fé - /“7 u’JV . /"-3" J :‘;" (v)
(vi) Define area of a closed figure. _é i j"" d ,,?J(f & (vi)

(vii) Define sphere. ZEJ6S (vid

e el sl (—4,3) 01(2,1)  (Viid)

(viii) Find the distance between (2,1)and(—-4,3)

(ix) Define line-segment. Sy Al (i)
( PART -II /5. )
Note : Attempt any THREE questions . .éabiﬁcf.aﬂlrcf :.Jf L

xy =10 1 x + y=7 .?é(:l’”c.«gd’x3+y3 ) .5
5. (a) Findthe valueof x>+ y° if x + y=7and xy =10
(b) Resolve into factors : 4x* —5x%y% + e bl 07 (&)
c:,(;j,au;g_ ér:‘"‘;:qb’ Xyt e+ 2y +2yz+2xz (D) 6

6. (a) Find the square root of ; by division method X+t + 22+ 2xy +2yz + 2xz
Y +4).

(b) Solve Vx-2-Jx =2 ’Zg‘f ()
7. (a) Solve by quadratic formula : - A0 .;.:»U/.:Ku’.m: (%) J

x*-5%x+6=0
“gé.w:LJljsiﬁffJ?SSyﬁﬁj? é,;;,_:_-,).’:«@pwd,l',.ug (<)
(b) Draw an cquilateral triangle each of whose sides is 5.3 cm. Draw its medians.

x+3y=6 2 +y=4: ESIUsab ke ni Syl il ()) .8

8. (a) Use Cramer’s rule o solve the linear equations : x+3y=6 ,2x+y=4

.5 “ 1 5i|& 35
o oa I [3 QHJ:[IO])’; )

1 5)[a] [35
(b) 1f [ = then find the values of ‘a’ and ‘b’
3 a7 10

= u,’?}'fgfr35 ;,[/’-:,‘J? 12 CMIJJLJ?-Z‘:"P,}JF’%:;M;?F (") 9
9. (a) Find the area of a right triangle with legs 12 cm and 35 cm.
L C (5,505 B(=2,4) A(4,-2)s6/Zzt ()

UL el AU

(b) Show that the points A (4,-2),B(-2,4)and C(5,5)are
vertices of an isosceles triangle.
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Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling

two or more circles will result in zero mark in that question.

()/J’L}'bs/“ )T Z,.g{y.)lr

u./20 )
15 AF

iy

Acute angle

Straight angie

Obtuse angle

Reflex angle

An angle containing more than 180° © <
and less than 360° is called :

D C B A Questions / = Uiy R
a’+b? —4ab 4ab 2(a’+b%) (a+0)%-(a-b§= I-]
a’+b’° (a-b)’ (a+b)’ a’-b (a+b)a* —ab+b*)=: 2

- 4 2 — 3
G-1DE=-5 | @+DE=5) | Gc-DE+35) | (x+1){x+3) ‘E'UXJ(”:*) 4
Factorization of (x+3):2 -4 is :
. S s » P P(x)=x" =25 +5x+1.1 |/
If P(x)=x"—2x%+5x+1,then P(1)= :
3 2 1 0 Zu!a_)’éd’_/pb’jl.)b?bj 5
The number of methods to find L.C.M. are :
_ 6
8,23 | 482 | (-8,-2) | (8.2 g2 ¥lx-3|=3
Solution setof | x —3{=5 is:
_ Foreach ?—Wgﬁwfdﬁb&xsjﬁﬁ 1.
0 =0 £2 x number ‘x’ the absolute value of x is
denoted by
u}’&?._./i’c: L/(upf.:al}l/[ﬁ»» 8
4 3 2 ! The number of techniques to solve a
quadratic equation is :
2 _ 9
(-1} (i} (1) {13 | | 5 g/ ot
Solutionset of x“=1 is:
6 AE _,)GJUQ Vel .._.JL';‘J 1 G | Amatrix q.t‘Li:"/cﬂ;lEi LS A 1y
Scalar matrix | Tdentity matrix { Column matrix | Row matrix | consisting of one row is called a :
Uiff IQ.J.‘?JIA;JJUJ)KJ:IQ»@ L):U)' .._/’G'J«J/ 1l
2 x1 S ) 3x2 2x3 In a square matrix the number of rows and
— columns is :
e e s | 12
1 800 2700 3600 900 ?L%J)“;K&){'}!ULJ
The sum of the angles of a triangle is :
—— " § jem e o o as | 13
bjf/:‘ 4»“‘_}:;};7 B )F/.;AS?..._G o u,?z_‘m..fﬂtf.ugsmﬁw
5 _cor::i)i:;ent Perpendicular Collinear Concurrent The angle bisectors of a triangle are :
s Ssln L A BAs (BB C sk |
Overlapping Equal Collinear points | Non-collinear | Points lying on the same line are called :
- ‘ e il < 360° F f1ie 180° A S it | 3
sl f/:ﬂ} ey g”a}f
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(PART -1 Js» )
12 2. Write short answers to any SIX (6) questions : : ¥ 412 A L oy (6){4:.6/ 2
2 3
() Simplify X ’;‘1 E A ()

xT—-x x'+1

(i) Solve by formula : (30+2m)? ~(30-2m)? D EF el (i)

(iii) Multiply (2+43)(5-43) D @ Gid

(iv) Factorize : 36d% -1

ZEGF ()

v 4 Debd Az (W)
e PO It P - 108 4 Tx 16 S (vi)
(Vi) If P(x)=x"~10x> + 7x + 6 , then find the value of P(3)

(v) Factorize :

(vii) Define H.CF. w8 il
(viil) Find L.CM. : 4P | 8p%q P 12p°4 :ér:h’d’uwus (viii)
(ix) Write the methods to determine the -, EPLE S e UMS A (%)

Square root of algebraic expression. .
12 3. Write short answers to any SIX (6) questions : : 4 eAl2 A L iy (6){:-6:( 3

(i) Define linear equation. -ﬂébéﬁ Y d muf (1)
(D Solve : | [2x~3]=5 £ (i)
(iii) Solve : 9x~3=3(2x-8) 2 Gid)

(iv)  What do you mean by quadratic equation? Sl aablBuns  (iv)

EE8E (V)
_éfc..ugffbl;ﬂ Y2 g B 0./ (vi)

(vi) If 3x® + x ~ 2 = 0 then solve with quadratic formula?
q

(v) Factorize P =TT

(vii)  Define rectangular matrix. o A Wl d—’bf (vit)
-8 -4 s
(viii) Find the determinant of - [ ) 2} e (viid)
: . 3 4 ]]-1 ; ;
(ix)  Find the product of : —ip vy (e A (1%
12 4. Write short answers to any SIX (6) questions : : ¢ 2z A L iy (6){:.6[ 4
(1) Define reflex angle. _é i J JG" 2 (@)
(ii) Define complementary angles, Sy PSusis EE G

(iii) Define parallel lines.

Ly LE G i
(&ids) YR - 1o -2—18



2

4. (iv) Define altitudes of a triangle. S Sl e (v) 4
(v) Define tangent to the circle. _é._éj f." d/ JWE (V)

a=3,b=4,c=2 Gxnis colbibonlJia b ﬁé{#é&iﬁ?(w,:u.fﬁ‘ vi)
(vi) Find the third side of right triangle with legs a , b and hypotenuse ¢’ :
a = 3 , b - 4 , C = ‘?

(vil) - Define pythagoras theorem. Ay Jeftd e (vii)
(viil) Define non-coilinear points. pAy 1 b6 3 Z (viid)

(~4,3)¢ (2,1) &t Lobp sl b6 (%)
(ix) Find the distance between the points (2,1),(-4,3)
(PART 11 #5552 )

Note : Attempt any THREE questions . .é@}lﬁﬁaﬂiruf r;.(jf WLy
4 ab=-5n a-b=4 .?.é(:b"..:gd/ag’—bB M) 5
5. (a) Find the valueof a® — 5> ;when a —b=4 and ab=-5
(b) Resolve into factors : 4x* - 5522+ e td sz (L)
4 6. (a) Find H.C.F. by division method : ép"" H.CF. r‘yblac...'ilﬁ,i’cﬁ(:v (h) .6
x4+x2+l;x4+x3+x+1
4 (b) Solve LINC 2 214 5 =S (L)
4 5 6 ) ’

4 7. (a) Solve by completing the square method : S 3 LY /ng T oY) T
| | 2x% +8x~26 =0

4 LIS E s I L it 72 5 S LK b ABCaE ()

..uya'600 2 45°

(b) Construct a triangle ABC with base length 5 cm and the angles at both
ends of the base are 45° and 60° respectively.

» 2
4 AL =1 S opnEes 4 In 4= {5 ;}/: (H) 8
2 1 = -1
8. (a) If4= £ 3 then find A~' and prove that 44~ =1
4 (b) Use Cramer’s rule to solve I e 3 PEAS (D)
the simultaneous equations :
2x +y=1
5x +3y =2
4 RE a0 ezl S Lopd v d L a8 x 218 (D) 9

AV
9. (a) How many tiles of 40cm?® will be required to pave the footpath 1 m
wide carried round the outside of a grassy plot 28 m by 18 m?

4 LB C (7,3) « B(3,2) (A(=1, 1)/ ()
(b) Show that the points A(—1,1),B(3.,2),C(7,3)are collinear.
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